



































































































































134
warmup 10 00 10110

Find the probability that a poker hand

has two 2 of a kind k Q 7

K K Q 9,7 Iight

Find the probability of being dealt a

three of a kind poker hand ranks aaabc

where atb c

1
414

Lilly

i






































































































































binomial distribution Eoutcome trial
meat

dependent trials
hatergeometric distribution zoutcom

draw a replacement

trial

draw Yo replacement
K outcome

5 hypergeometricdistribution

abbrev HG n N G
Parameters N sporulation size

G Good in population
n sample size

Suppose a population of size N contains
G good and B bad elements W GtB
A Sammie size n with g good and b bad
elements neg b is chosen at random

to sect's Binomialapprox to hypergeometric

E3 randomvariables Rr
joint distribution of 2 RVs and independence






































































































































SEE Binomialapprox tohypergeometric

Binomial independent trials
hypergeometric dependenttrials

E 100 person class with a gradedistribution

A grade 70 students
B grade I 30 Students

Sample 5 students at random w o replacement Sps

Find P 3A's 2B

nor
tetric 1347 5

bindle 5 C736372 300

when we is large relative to n H665,100,7072Bin5 7

why

46 n N 6 a BinG E

summars

9Ein.TLN large n small
P

binomial G P approx by normaln large

Lapp
rot byPoisson map r a

OS MITS n
usecontinuity
correctionIggyPoisson u






































































































































Secy Intro to Random Variables Ru

A RV X is the outcome of an experiment

What distribution is the following RV

X The number of aces in 5 cards drawn from
a standard deck

46 5152,4

flip a prob p coin 2 times

X heads

we write the Bin 2 p

More preciselyoutcomespace

x R IR is a function

Hit 1 2
HT 1 1

TH I

TT o

so 7 1 means I HT TH E R

Fl is an event

P 8 1 E p't p binomial formula






































































































































JointDistribution

Let x y be the joint outcome of

2 RUS X Y

X one draw from 12131

Given X x Y number of heads in

x coin tosses

P X x Y y PCY YIXD.PH

PCX I Y D PCY IIX DePCX D 1

I
what the range of values of X 1,33Find

pyo P 4 01 x D 48 Y 0 1,2
Pll 1 t Y IP 2,6 t t 48
P 2,1 Yz42 44
P 12,27 4 E
P 3,0 Yg Yy 432






































































































































PLZ 1 3 t
P 3,2 3 4
P 3,3 f t marginal prob at

PG EyPLx g

E I

3 O O E Iz

F Iz E
marginal
prob of Y2 O

PEEPED
1 I E E E
o f s E E
Yy I 2 3

Is Y dependent

dependent

PLY 018 1 E XY der
P 4 0 932






































































































































DEI two RVs are independent ice

P y g1X x
e P Y D for all c X

SEY

By the multiplication role

if X Y are indep
p X x Y g P yes X PIX

PCy y

so pCx x y y PCx x P Y y

























































































P x o Y o

Ply 01 001 07 1

Ye Ye

check every
entry in table

0


